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L j 75 S SR fif A ey 652k kiR k%3224 1823kk3k6040 10022 AR ST
2 R R FEAEER 51 3tttk 2322 178kk8350 100 AT
3 i R R Brid e 51 Jkskokokokokk 2624 199%%%%%9277 10022 AT
4 i AR TR R 430%kkskskskokokokokkk 8113 150%%%%%8056 100 AT
5 7 I 2 L H e 360k RRHHHHKT 025 1528067423 | 1002 ARJT
6 i AR el 51 Qskkkokokk 3773 152%%%%%2618 100 AT
7 A R 2R 2=l 52 630kkskststlkskekekk 1 029 132s%kkkk 1227 1002 AT
8 i s AR BEE 52 2kkkkkkkokokokk 7928 187+%%%%8126 100 AT
) 2R X4 522 kkRRAHAAAKA21 6 135865448690 | 1002 AR T
10 R 2R X 5 1 3tttk 982X 183%544%7726 1002 AT
11 7 [ 2l Bk b S A22kkkAAHAKAK 2046 153385440370 1005 AT
12 IR 2L A0 51 Qsskotosotoleotokok 7317 183#k4£9034 100Z2 AT
13 R 7 R AL AN 510kttt 00 14 13543699 002 AT
14 8 7 R TEK 52 2sksdoksketorokk 1 039 18532307 L0022 AT
15 68 7 = 2 L R TE] 14 2%skctoksoletoiokok 222 1 130%skkx8654 1002 AT
16 8 7 R 2R KN T 51 stttk 592X 191 #0980 L0022 A 7
17 JR AL XI| 3 51 0sksteiottersteieskok 607X 137354730 1002 A7
18 N Wi 522 wkpkpkikrkk0065 152k 3470 L0022 AT
19 R FH Y 51 3skskskokskestokoskokokk 82 1 X 180%skkkk8773 10022 A 1
20 WA AR AK 522%kkxkdokokkk k3127 182%x+4%6869 10022 AT
21 St ¥y 51 Qskskskoskskstokskokokok (0033 153%skkkk4579 10022 A
22 St ¥4 2 51 3skskstoskskeskosksokskok 204X 136%k%kkk8527 10024 A Ff
23 St BEIE: 52 2skskskkskskskkokokk 3546 198%kkkk5875 10022 A
24 N Rl ] 548 51 0skskskosksksiokoskokekk 283 1 159%kk4%0496 10022 AT
25 g 5 522Kk k8060 184%%%%%4808 10022 A
26 WA} R MF 530kkAsdtkokookok k294 | 136%kkkk 4042 10024 A Ff
27 St 2= M 522%kskskskskskksksksk k(0827 182k 7015 10022 A
28 S 2446 522%skskskskskskkkkk 763X 158%kk%%2627 10024 A Ff
29 WA Xl 22 PR 522%kskpotskk (06X 18 Lsoksiclox 3886 002 AT
30 S Rt A= 52 Dsksksksksksiokkokskk 4817 184%%x%k%%x9062 10024 A Ff
31 WA B of 43 Iskopstoioopiork6 115 198tk 3317 10022 AT
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29 HA SR 522%kkkkkxkAH K03 3X 1523k4%%8583 1002 AT
33 g JEE 522 ksskkkokok k(0228 155%#ckk5068 1002 AT
a1 HA Tk 522k kK06 ] 3 188dtotok2340 10022 AT
. WL Az 52 2kksok ok Ak R T T 25 187kekxk4691 100ZART
26 HA THaLr 522k kA | 629 15 1otk 8157 10022 AT
a7 WL T 51 1 kskskkkknk®2434 18Tkckox 1 868 1002 AT
28 HA R i 510%sskkskokkkkk k2617 180kkxx%7579 1002 AT
29 WL g 522%kkkkkAA AKX 2207 189tk 0279 1002 AT
10 HA SNl 51 0skskkkssrskoork k5710 1893ktok(0726 10022 AT
" WL W 51 Skskkokokiok k6589 15936935 1002 ARJT
12 WAL i 522tk k0065 18 1#k##%£9819 1005 AR JT
13 L Ftp} 522%kkxkkAAxHk %0105 1523kck64067 1002 AT
" Bl BT 652kttt 1 520 130tk 7018 1002 AT
15 WL o 420k kKK xk%%%4 115 15 Ltk 2591 1002 AT
16 Al CE< 62 0skkkok ok 1419 1784267 1 100 AT
e L B 52 2skskokkkok k682X 183kk64763 1002 ARJT
18 Al A = 23 0skkkok Rk 0220 1875604 100 AT
19 L HEE 5O0%kskskkkkk % 760X 188s#tekx4916 1002 AT
o Bl i 51 1 skskstoepsotesko | 328 17Tkl 3872 1002 AT
. L 25 B 51 2skskkokskok k5627 188tk 4484 1002 ARJT
- Bl I3 5 51 1 skskstoepsotskok 00 23 130sksk:8067 1002 AT
- WAL Xt 51 Skskkokkork [ 022 17 Tskk%2639 1002 ARJT
i HA I 24 51 3skkkkrkork k4964 133tk ] 152 10022 AT
- WAL T 522k ok kAR k0027 183sketick 3560 1002 ART
. Bl B 51 3tttk k08 20 139tk 083 1 1002 AT
- L A 51 1kkkskkikskx 7027 132%tckx1015 1002 AT
-3 Bl e 51 1 skskstosksotokk 3764 156k 2263 1002 AT
. s Rl ) 522k kA AF %2433 1823tk 6404 1002 AT
50 W PR S 51 3ksskkkokkkkk k3827 182k4%x0067 10022 AT
o1 s Rl B EE e 511 kkkskkirrkx4005 180skskx8576 1002 AT
62 W PR e Y 51 Iksskkskrkokkk 329X 1824%x%0756 10022 AT
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